



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^0 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{2}\right) =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{1}{6} = \left(-\frac{17}{6}\right) = \left(-2\frac{5}{6}\right)$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{41}{18} = 2\frac{5}{18}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{180}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{1}{5} = \frac{89}{45} = 1\frac{44}{45}$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{3}\right) = \left(-\frac{7}{3}\right) = \left(-2\frac{1}{3}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{1}{5} = \frac{29}{5} = 5\frac{4}{5}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{11}{4} = 2\frac{3}{4}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} = \frac{1}{20}$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{5} = \frac{21}{80}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{4} = \left(-\frac{59}{100}\right)$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{19}{4} = 4\frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{6}\right) = \left(-\frac{23}{6}\right) = \left(-3\frac{5}{6}\right)$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \frac{1}{6} = \frac{217}{6} = 36\frac{1}{6}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{3}{5} = \frac{137}{20} = 6\frac{17}{20}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{5}{2}\right) = \left(-2\frac{1}{2}\right)$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \frac{1}{5} = \left(-\frac{21}{5}\right) = \left(-4\frac{1}{5}\right)$$

$$\left(-\frac{1}{2}\right)^0 - \left(-\frac{1}{4}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{3}{10}\right)$$